Test Booklet No. This Booklet ! Test Booklet Series
ofen qfteret wem contains 48 pages. wie yftera drfrw
T G 7 48 T8 1| 1t Booklet e Rt
B 1
Eﬁm B
- i&ﬁ ==
215108017 El ) L 0] G
m [ EEFet Y T
Do not open this Test Booklet until you are ashed to do so.
T e gfETsT @) oW e 1 Wl o o wET A @I
Read carefully the instructions on the back cover of this booklet.
L o 4 T gitee @ Med amaro w e St o1 o | oF

Allowed Time : 120 Minutes
fwifte v : 120 e

Maximum Marks : 300
FfETH AF - 30

1. The OMR Answer Sheet is inside this Test Booklet.
When you are directed, open the top seal of Test
Booklet, take out the Answer Sheet and fill in the
particulars carefully with black ball point pen only.

2. Thetest is of 120 minutes duration and consists of 150
objective type questions. Each question carry 2 marks
for correct answer. Negative Marking: For every four
wrong answer, mark lor one right answer will be
deducted.

3. Use Black Ball Point Pen only for writing particulars
on this page and marking responses in the Answer
Sheet,

4. Muke sure that the Test Booklet No. and Series marked
by you an the Answer Sheet is the same as that on this
Booklet.

5. Rough work should be done only in the space provided
in the Test Booklet.

6. The answers are (o be recorded on the OMR Answer
Sheet only, Mark your responscs carefully. No
whitener/ eraser / Blade is allowed for changing
answers,

7. After opening the Test Booklet, please immediately
ensure that no page or question is misprinted, tom or
left blank. I any discrepancy is found in test booklet,
show it to Invigilator and get it replaced with test boaklet
of same series.

8. Forany question if there is any discrepancy in Hindi or
English language of that particular question the English
version of that question will be considered as (inal.

9. Details of Sections in Question Paper:

6. it I daw . tH AR Owe gEe W A aifen

1. 3l U ¥R I TS 56 T ® I #)
R A (R o een 9 5 s
IR TIE B 7 P o R ew Ry v fwm
T I A dige 9 9w w1

2. e ) 120 B & v 59 150 TEfEedT
uet ¥ wie W 4 w6t o @ farg

szﬁwlmaifafﬁaﬂ#qﬁmmwﬁmﬂ

amH & foe #iad w1 T yige 99 w1 9
uaty ¥ |

4 Hfftas & & 5 & o9 o oo e A Wl

. 48 Hf; '

G g T vd gden gftae @ia of
& o g wnen it # it 21

s.g;:wzmmgftﬂm#ﬁﬁmﬁﬁmm
|

T | AT TN ¥ Y| I TTEA By
BEER /WS /s o wam Piftg £

.@m%m@ﬁ%mmmﬁmmﬁﬁi

‘-I'E\'Ti!*!il -1 BT, ST a1

ar g T 8 | afd o ﬁﬂgﬁﬁ
mm;ﬂﬁtﬂmm T T ydan gftam
Wi B H |

8. 5l ft 09 we & foro Rorrd D s anioh
s A R o & sl s 9 R g v @
I 81T |

9. W T W Tt @1 R

~4

| Subiwgy Ho. of Cusyiion | b e TEAT W HE
Section-1 | General Aptilude Test 25 WAWT o | aren 1!1; CTiTTIE I5
Sectlon-2 | General Knowladge 50 FATNIT .3 | 1wy shis 50
Sectlon-3 | General Scisnce & Arithmetlc 50 ML R TN T LT 50
Section-d | Gensral Hind 25 N4 [ ) 25
‘l_:i_ﬂmc ['the candidate (In Capitals)
&AM (w2 FE ),
Roll Number (3rjassia) DENIG GI)
Inwords (WY ®) ... =
Centre of Examination
T L R e 1 RS T SRR - - — SRR, ”. L -
Candidate Signature Invigilators Signature
LM-B SERIES-B-G




LM-B 2 SERIES-B-G




SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

Q1 Inthe given series, one number is wrong, Ql < s HEa ¥ UH T Tod & a8

Select the wrong number. e WA o |

18, 22, 44, 48, 52, 100, 200 g 18, 22, 44, 48, 52, 100, 200
(A) 48 2 (A) 48

(B) 52 (B) 52

(C) 100 (C) 100

(D) 200 (D) 200

Q2 Selectthenumberthat willcomenextinthe Q2  a® wwm g o Frafofea sjwen 4

following series, T 3Tt |
3,4,13,38,87, 168, 2 3,4, 13,38, 87, 168, ?
(A) 199 (A) 199
(B) 289 (B) 289
(C) 203 (C) 203
(D) 259 D) 259

Q3  IfXAY implies X? +¥? Q3 Ak XAY®Towwd X2 +¥? @
XBY implies X?— ¥? XBY &1 arad X?— Y?#
XCY implies (X + ¥ )? XCYHramud (X + ¥)? &
XDY implies (X — ¥)? then, XDY &1 argd (X - V)7 &
Which of the following is TRUE? ot Freafafaa 4 @ @ ww &7
(A) (7C3)—(6D6)=-100 (A) (7C3)-(6D6)=-100
(B) (3C2)D(5B5)=624 (B) (3C2)D(5B35)=624
(C) (3A2)B(5C4)=88 (C) (3A2)B(5C4)=88
(D) 216D256=-1600 (D) 216D256 =-1600
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Q4

Q5

If P + Q means that P is the sister of Q,
P+ Q means that P is the mother of Q and

P % () means that P is the brother of Q,
which ofthe following means A is the aunt of

D?

(A) A+ ExD
(B) FFrA+ExD
(C) A+B=CxD

(D) AXE+BxC+D

Select the option that is related to the third
term in the same way as the second term is

related to the first term.,

Pressure : Pascal ;; Current : 7

{A) Volte
(B) Joule
(C) Watt

(D) Ampere

LM-B

HGES

Q4

Q5

gfe p+Q@r anf & 6 p,Q & 7EA B,
P+Qr aef & 5 P,Q &1 i 2 3l

PxQa@ af & f5 P,Q@ wiE & a
fr=iferfan & @ frwmr A & 5 A, D@
aT /A /AT /e /g3 /| 82

(A) A+ ExD
B) F+A+ExD
(C) A+B=<CxD

(D) AxE+BxC+D

a8 famey g ot R e © S o
W wafee 8, fore wem g9 9 g
v o Wafd 2

oTd : UFehe - ﬁq‘gﬁ—ﬂm s
(A) Tlee
(B) S

(C) a
(D) Uffgaw
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Q6

Q7

Read the given statement and conclusions
carefully and select which of the conclusions
logically follow(s) from the statement

Statement:

The changing trends in Indian cinema has
witnessed big budget star powered movies
doing poor business and a lot of small budget
content driven movies earning good
business.

Conclusions:

() Thelow budget movies are huge hits
due to their story content irmespective
of the star cast.

(i) The big budget movies are flop at box
office for casting big stars.

(A) Onlyconclusion (i) follows.

(B) Only conclusion (ii) follows.

(C) Both, conclusions (i) and (ii) follow.
(I} NMeither conclusions (i) nor (ii) follow.

Village P is to the east of village Q.
Village R is to the north of village P.
Village S is to the west of village R.
Village S is towards which direction of
village P?

{A) South-east
(B) South-west
(C) North-west
(D) North-east

LM-B

Q6

Q7

fRr v T aiv Feed @ am |
air e &8 & 29 |9 /9 e
mi® ®9 § TUT F ATET Bl
g/aw 8

Y.

wrelg R i ggad 4 g9 T @
ATl & W & 5 Rrant (wener) ) 43
quie @ e @vm FRER W #
e fwg—awg amnfa B aue & w5
o afem sRER ov v &)

B E

() Foorl (Faer) @ aa7 & 3
AE® A1 od §¢ AU Ul "l @
FHRY BIE guc 31 e acga 9%a
W B

(i) ¥& FHaR (FATERT) & Ta+ & HR
48 guic o e diaw aifftewn uv
G TE B

(A) Fad Feed (i) arpavor sver 8

(B) @ael Fmd (ii) aremor wven 8

(C) =T, Frepd (i) 3R (i) arFpaRoT e
gl

(D) = @ Fresd (i) & (ii) e Fwn
2l

g P,7a Q% qd A 8| 7ifa R, A P&
I W 8| 79 S, Ma R& uf¥em 4§
g S, g P frw R & ol 87

(A) wféor — qd
(B) =l — uf¥es
(C) I — uf¥=m
(D) IR — 7
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Q8  Selectthe option that is related to figure (C) Q8

in the same way as figure (B) is related to

figure (A).
a-@],ﬁp'::o 9.,
o I - | I I
1A} (B icl
2 O
“18 O
O =
(B) o o
s O
(C) o o
¢ O
(D) o o
Q9 Identify the odd word. Q9

Square, Triangle, Rhombus, Sphere,
Parallelogram, Rectangle, Circle, Pentagon,
Hexagon

(A) Triangle

(B) Sphere

(C) Circle

(D) Hexagon

g% e g, s agfa (C) @ o™
df® 49 € |eg 8, 9T A (B) &

Pl (A) & Wy B
AR, [* D|..|O ¢,
A lod leo”
2 O
“ 18 O
O %
(B) ﬁ o
s 0O
“l8_©
¢ O
(D) o o

fauq o= & UB"EE Y|

o, Prge, wrEE, e, W
T, AT, T, e, wEdiv
(CNRECE
(B) e

(C) gn1
(D) T
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Q10 The list given below contains figures which

Qll

have something in common.

Cylinder, Cuboid, Sphere, Prism, Pyramid,
Cube

From the below given options, identify the

one that can be classified as part of this list.

(A) Rhombus
(B) Cone

(C) Square

(D) Parallclogram

Study the Venn diagram given below and
identify which option is correct with

reference to the diagram.

Acroplane

(A) Some birds are not aeroplane.
(B) Allaeroplanes are birds.
(C) Allbirdscan fly.

(D) Some aeroplanes can fly.

LM-B

55550084

Q10 #Art & et ¥ W spfvat whnfer

# ol @ owafear (@) &)
aa=, uam, e, fiew, e, w=
A1 fBe v e 4 9 99 Res 9

wEErE Y O g0 g @ u @ Wy
g fbam Wi e 2

(A) TEg

(B) @i

(C) =t

(D) FHIER BqHA

9 128 7Ty 99 v F sreae o el
yEr 6 19 w1 ey amw & o |
L

()=
WF‘[

(A) o il argaE el §)
(B) Wi argam ueh &)

(C) Wit ueft 98 Hd €|
(D) B AGIF TS HHd & |
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Q12 Two positions of a dice are shown below. If Q12 & gy #1 21 Reftrd 8 zoid o &

number 6 is exactly opposite to number 3, afe vie 6. we 3% o figda & o
then which number is exactly opposite to g=r 23 & faude o ) e
number 27 g7
- l
4 : 5 ;
3
Ay § @) 1
B) 4 8 (B) 4
(©) 5 (C) 5
| (D) 6 (D) 6

Q13 Inthe figure depicted below, if the pentagon Q13 #r gurh wE ol A, afk g &

is rotated anti-clockwise 2707 once and the s 9% aEEd 270° YT e & afe
triangle is rotated clockwise 270° twice what Prpa @1 @1 ar afdomed 270° garm
| will be the final figure ? wren 8, o uftonfie amsfey @ nfi?

| (A) @ (A) @ |
|
L
(B) (B)
i
i
(€) (<) 1
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Q4

Ql5

Ql6

Q17

Select the option that is related to the third
word in the same way as the second word
is related to the first word.

Kitchen : Refrigerator :: Bathroom : ?
(A) Television

(B) Geyser

(C) Microwave Oven

(D) Sewing Machine

In a certain coded language, if BRAKES is
written as TAGPNX and CLUTCH is
written as IBEJWR, then how will be the
word WHEELS written as in that language?
(A) TVMGFD

(B) TVNEHB

(C) XRJIHB

(D) TVNFHB

Inacertain coded language, ifRAMESH is
written as TBNFTJ and MITALI is written
as NJVBNJ, then how will be the word
RANBIR written as in that language?

(A) SBOCJS

(B) SCODIT

(C) TBPDIT

(D) TBPCKS

Deepika is the mother-in-law of Priyanka
whose husband is the father-in-law of the
wife of Ranbir. Salman is the only son of the
husband of Deepika while Katrina is the only
daughter of the mother of Ranbir. How is
Salman related to Katrina?

(A) Husband

(B) Brother

(C) Father

(D) Grandfather

LM-B

Q14

QI35

Q16

Q17

a8 RAwe 71, fows 9t v @ WM
1 & & wey R O o e @
UEd Y $ Wy

v - wdies © wrE  ?
(A) eefasm

(B) w1 Sre-wa (frow)
(C) wgmaa e

(D) Fard wdi=

fsh Pt o wmar 4 afz BRAKES
® TAGPNX & w9 ¥ forar oman & afiw
CLUTCH @& IBEJWR & &9 # faran
W &, o W WHEELS &1 f5 &u #
feran smem?

(A) TVMGFD

(B) TVNEHB

(C) XRIHB

(D) TVNFHB

el Pfrea o W & afy RAMESH
@ TBNFTJ & &9 % férar amn # afn
MITALI %! NJVBNJ & w9 # farar amn
&, o w= RANBIR 1 f5s &y ¥ foran
wrg?

(A) SBOCIS

(B) SCODIT

(C) TBPDIT

(D) TBPCKS

@iftrenr, e ) @ & R ofy, ol
M Ul @ TR & | e, St @ ofy
&1 gwelrn de1 & wEfe ded, widi
B W W gHeh D ¥ W W
delfn | Tar dag 22

(A) ufey

(B) g

(€) Rien

(D) <=1
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QI8

Q19

LM-B

Read the given statements and conclusions
carefully. Assuming that the information given
in the statements is true, even if it appears to
be at variance with commonly known facts,
decide which of the given conclusions
logically follow(s) from the statements.

Statements:

1. Some lions are cats.

2. Allcatsare tigers,

3. Notigerisan elephant.
4. Allelephants are rabbits.

Conclusions:

) Sometigersare lions.

1) Noelephantisa lion.

I} Some cats are elephants.
1V) Some tigers are cats,

(A) Only conclusion Il follows.

(B) Only conclusions | and 111 follow.

(C) Onlyconclusions Il and IV follow.
(D) Only conclusions land IV follow.

Select the option that can replace the
question mark (7) in the following series.

SUPER, PSRUE, RPESU, ERUPS, 7,
SUPER

(A) PSRUE

(B) UESRP

(C) EURSP

(D) USERP

FESGIESS

10

Q18 fEu v Pt aiR frepe] @ e A W3

7% wF B f et 3 @ see
A & el § I8 W W el |
s & #at 7 8, ug Poln & 5 Ry
T frept # | @ |1/ 9 Pt ofds
WU BT BT AE H /B
gl

&2+

1. wo fis, Rfeadi )
2. w1 fafeeddl, ama #

3. @ig f amg, seh T8 &
4. i s, @ §)

e -

N o am, fis &)

Iy s 9 erd, e 76 8
1) #o fafeord], wrl §)
Iv) @9 am, fAfeadt 81

(A) Taa fFrepd 11 argaor & 8

(B) Faa Frepd 1 afiv 11 agaRor v
21

(C) @aa frssd |1 3w IV IgEm F
gl

(D) Faa Femt |3l IV dge a3
Bl

Q19 =% fawew g it A A 7§ @ A

wefEEs (7) & witwenfia & wam &)

SUPER, PSRUE, RPESU, ERUPS, ?,
SUPER

(A) PSRUE

(B) UESRP

(C) EURSP

(D) USERP
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Q20 Select the number that can replace the

Q21

Q22

question mark (?) in the following series.

51,44, 49, 42, 47, 40, 45, 38, 7
(A) 31
(B) 33
(©) 43
(D) 45

The ages of two friends Ramesh and Rajesh
are in the ratioof 4 - 3.

Which of the below pieces of information is

additionally required to answer what the

average age of Ramesh and Rajesh is?

(A) Rameshis 10 years older than Radha
who is the younger sister of Rajesh.

(B) Theagedifference between Ramesh’s
father and Rajesh’s mother is 8 years.

(C) 6 yearsago, the ratio of the ages of
Ramesh and Rajesh was 3 : 2.

(D) Ramesh was 12 yearsold when Rajesh
was in senior KG in his school.

Five friends A, B, C, Dand E are seated in
a row and are watching a movie. Aand D
are scated at the extreme ends while B is
seated exactly in the middle.

What additional information is required to

answer who is seated next to A?

(A) Bisseated immediately next to both C
andE.

(B) Cisnotseated nexttoD.

(C) Cisseated nextto B.

(D) B is seated nextto E.

FEGHILGLY

11

Q20 d§ WEm g Wil e @ W ywen A

Q21

Q22

wefes (7) @ wfenfia & wad &

51,44, 49, 42, 47, 40, 45, 38, 7
(A) 31
(B) 33
(C) 43
(D) 45

a1 o i ol woe B amg 4039
U H 2

e & g B W SN 3 we #5

o @ @ fow afRes wu ¥ snavas

8, T v alR o Y s amg =

B?

(A) wre, e 9 10 9 a9 & o v
1 BIEl 989 &

(B) e & e iy wworw & 5 & §=m
g w1 oW §af &)

(C) 67 gd, v iR worer Y Ay &
AU 3:2 97|

(D) A e o faemeg 4 @y
wal. # o, 79 W 12 98 &7 ey

big A3 A,B,C, D3N Eva ufda 4 &2
g 3l v 2@ @ &1 A3k D siftm
BRI W 42 € vafe BdYe §g & dor &7

48 IR o7 @ forv form afaRes o

DI AaTaET &, 6 AD 7w # #= dar

27

(A) B,Calr EaFi & &1 e ¥ 3o
B

(B) C,D& awrel 4 78] 91 &

(C) C,B® T7ef § da1 &}

(D) B,E@® a7 W &a7 &)
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Q23

Q24

Q25

A is the brother of B and son of C and D. E
is the husband of B and father of F.

What additional information is required to
answer how C is related to A?

(A) Bistheonly daughter of C and D.

(B) Disthe maternal grandfather of F.

(C) Fistheonly grandson of C.

(D) AisthesonofC.

In a certain coded language, INCOME is
written as HPFENOG. How will be SAVING
written as in the same language?

(A) RCVHPG

(B) RXCHIP

(C) RCXHPI

(D) RCXHPG

Ifin a coded lung\{:gc MIND is written as
IMDN, how will be GAME written as in the
same language?

(A) GEMA

(B) MEGA

(C) AGEM

(D) EGAM

12

2023 ABmiwiE dalR CalRDm #21 | E,

9

Q24

Q25

BauftalnFs fMar &)

I8 9w o1 @ fag @ @ sl
TS B ArEda §, B CH AD
el Fr Haw 80

(A) B,C3R D& gwend & &)
(B) D,F@& A1 &)

(C) F.C &1 gocan dren 8

(D) A,C&r 21 8

e ff¥ea e W 4, INCOME &t
HPENOG & w4 ¥ foranm wimem
SAVING ®1 39! &g Wi # fbw w0
feran wmga?
(A) RCVHPG
(B) RXCHIP
(C) RCXHPI
(D) RCXHPG

afe v& o W § MIND &) IMDN &
wq ¥ foran oimen 8, @ GAME &) 9@
e W W fra W A ferar wmga?
(A) GEMA

(B) MEGA

(C) AGEM

(D) EGAM
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Q26

Q27

Q28

SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

Which of the following cyclones badly
affected the coastal districts of Odisha in
May 20197

(A) Cyclone Sani

(B) Cyclone Fani

(C) Cyclone Tani

(D) Cyclone Kali

Which one of the following teams won the
Indian Premier League (IPL) trophy, 20197
(A) Kings XI Punjab

(B) Chennai Super Kings

(C) Sunrisers Hyderabad

(D) Mumbai Indians

In May 2019, the Central Government
created a new ministry by merging the
Ministry of Water Resources, River
Development and Ganga Rejuvenation and
the Ministry of Drinking Water and
Sanitation, What is the name of the new
ministry that has been formed as a result of
the merger?

(A) Ministry of Jeevan Shakti

(B) Ministry of Swachcha Ganga

(C) Ministry of Jal-Nadi Vikas

(D) Ministry of Jal Shakti

545055734
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Q26

Q27

Q28

wé 20194, Prafafa # @ 5w awam
1 sfem @ adm fret o g8 we
waifae fsan?

(A) =T A

(B) wEHaTe BIA

(C) wrar ari

(D) awam Frel

gfeas fifme & pL) 279, 2019
Frafafaa 4 @ frw & 3 e

(A) & geta= doe

(B) ¥=1§ g o

(C) T gTH RevEg

(D) ¥ad gfaa

W§ 20197 Fg TYHR A A HawE, T8
s v T Fmes dEEy AR
Taad i W iaea o fea o
US 91 Ay §aman| faen @
yRvmeEsy S AT wEea a9 T 8
THET AW T 87

(A) ohas ufd w=mera

(B) @ T HAY

(C) we--14) faFr waea

(D) wie wifes #=er
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Q29

Q30

Q31

LM-B

Which country conferred its highest honor,
the ‘Nishan Izzudeen' on Indian Prime
Minister Narendra Modi in June 2019?

(A) SrilLanka

(B) Maldives

(C) Nepal

(D) lsrael

is a famous 49-year-old veteran
Nepali Sherpa who scaled Mount Everest
for the 23" time in May 2019,
(A) Tenzing Sherpa
(B) KamiRita
(C) Appa Sherpa
(D) Phurba Tashi

India is estimated to have produced

million tonnes of food grains (rice and wheat)
during 2018-19.

(A) 18337

(B) 383.37

(C) 28337

(D) 483.37

ES4G5534
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Q29

Q30

Q31

A 2019 §, wrdm g e A
& Fefafaa 4 4 w29 3 ama
warea weE, T god @ weife
farar am?

(A) et

(B) wieEE

(C) =T

(D) FoviEd

__ T e 49 offn dufpd
Aurelt var & fore wE 20199 23% aw
AEE [avee @ 99 g A &

(A) TR v

(B) @rit Se

(C) 3ray Freay

(D) a1 arel

2018-19 % ERM WA g wA fhaa
fiferas &1 amma (ams s 48) &1
Iared g wF @ s &7

(A) 18337

(B) 383.37

(C) 28337

(D) 48337

SERIES-B-G



Q32  Which state produced the largest amount of
rubber in India in the year 2017-18?
(A) Kerala
(B) Andhra Pradesh
(C) Odisha
(D) Kamataka

Q33 Which of'the following share is contributed
by the Agriculture and allied sector in the
India’s gross domestic products, 2019?
(A) 14.39%

(B) 29.73%
(C) 1587%
(D) 31.46%

EE 34550

Q34  What is the child sex ratio of Uttar Pradesh
as per Census report, 20117
(A) 898
(B) 912
(C) 916
(D) 902

Q35 Whichof following valleys is NOT situated
in the Himalayan Mountains?
(A) Karewas
(B) Bhagirathi
(C) Kathmandu
(D) Amku

Q32 2017-18 % Fr=fafaa 4 | fve o= 9
HRT A HaH FE W B Serey e
(A) FE
(B) 3T wew
(C) anfem
(D) ®es

Q33 WG @ HEHA Eie IS, 2019 ¥ F
3fiY WG &3 g B fee wftvera wm
&1 WIS TS &3 &7
(A) 1439%
(B) 29.73%
(C) 15.87%
(D) 31.46%

Q34 G R 2011 & IER, IR G2y
i e e a7 &2
(A) 898
B) 912
(C) 916
(D) 902

Q35 Prafafaa % @ o @ o, Ruaea
udfer sen ¥ Rem Tl 87
(A) @arE
(B) wrfeeh

(C) ®BwIg
(D) 3w,
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EERLLER LY

Q36

Q37

Q38

LM-B

Who was the first woman Governor of a
state in Independent India?

(A) Sharda Mukherjee

(B) Vijayalakshmi Pandit

(C) MargaretAlwa

(D) Sarojini Naidu

According to IMD World Competitiveness
Rankings, 2019, Indiaranked  in
waorld’s most competitive economy.

(A) 14%

(B) 24*

(C) 43¢

(D) 51%

Bombay Stock Exchange appointed
______ as its first independent woman
director in May 2019.

(A) Jayshree Vyas

(B) Jayati Ghosh

(C) Rohini Pandey

(D) DevakiJain

16

Q36

Q37

Q38

wWoa wa § 5 von o wem wfden
T e off?

(A) =T HE

(B) faoraash dféa

(C) wrfve s

(D) W g,

FEWE (IMD) frem uftegst &7 2019
& JER, v @ wifes fRaies
T @ g@ A wwa A
i e far #)

(A) 147

(B) 24°

(C) 43*

D) 51*

TR I AR AR 20199
B HY FUH WO A qien FRve 3 e
¥ frgea fam
(A) wash =
(B) wrfy =y
(C) feeh uig
(D) 2F@ 9
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Q39

Q40

Which of the following keyboard shorteuts
displays the Start menu in the Windows
operating system?

(A) Ctrl+ Z

(B) Alt+Spacebar

(C) Cirl+Esc

(D) Alt+ Enter

Who among the following is known as the
*father of computing™?

(A) Charles Babbage

(B) Tim Bemers Lee

(C) Philip Don Estridge

(D) James Gosling

Windows 10 was first released as a preview
on which of the following days?

(A) 1January 2013

(B) 12luly2014

(C) 1 October 2014

(D) 12 December 2015

LM-B

Q39 il i & 1 4 Tl ved og-—uy

Q40

Q41

(@ &g widse) e wares wonedl
(@i fven) § wie W @ g
87

(A) Cirl+Z

(B) Alt+ Spacebar

(C) Ctrl+Esc

(D) Alt+ Enter

Frfofag 4 @ frw aifds o sgfea
& TE B WY H W o 87

(A) e F49

(B) fem aid ol

(C) Tl g vfigw

(D) W=y iR

fagm 10 %1 vee vw yatacie & wu i
Fr=fafa & & fma s ot fasan
o7

(A) | T=1a%1 2013

(B) 12 9ems 2014

(C) | IREER 2014

(D) 12 fawav2015
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Q42

Q43

Q44

Q45

Every year, in which of the following districts
of Uttar Pradesh is Bateshwar Mela
organised?

(A) Kanpur

(B) Varanasi

(C) Mathura

(D) Agra

What is the suitable time of sowing the
indigenous variety of cotton (kapas) in Agra
district of Uttar Pradesh?

(A) First fortnight of April

(B) Mid-April

(C) First fortnight of May

(D) Mid-May

As per Census 2011, what is the population
growth percentage of Uttar Pradesh?

(A) 2021%

(B) 20.23%

(C) 20.30%

(D) 20.32%

In which of the following districts of Uttar
Pradesh is the Union Government's opium
factory located?

(A) Varanasi

(B) Ghazipur

(C) Ballia

(D) Kanpur

LM-B
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Q42 wwx wew & fA=fafaa § @ e fd

# wfy ad g Taw sren amafom s G
2?7

(A) B

(B) amToTi

(€) ngu
(D) 3T

IR wew & I e # wd ()
@t e fe @ garg w1 SugE @
frefefaa § | @ w87

(A) S &1 B GEars

(B) ald @1 Y

(C) #E & uBel T@aArE|

(D) W3 &1 7eA

af 2011 @ SEVET W SR, SN
way @ S o gie uftea @ &2
(A) 2021%
(B) 20.23%
(C) 20.30%
(D) 2032%

o wew @ Frefafaa 3 @ e e
i #ig EYeR @ aBm @ Bag) Red
27
(A) TRTRN
(B) TR
(C) aferan
(D) FFTYR
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Q46  In which of the following cities of Uttar
Pradesh is Modern Coach Factory, a rail
coach manufacturing unit of the Indian
Railways, located?

(A) Racbareli

(B) Mughalsarai

(C) Prayagraj (Allahabad )
(D) Lucknow

Kashi is a famous Indian pilgrimage centre
situated in Untar Pradesh. It is located on the
banks of the river.
(A) Gomti

(B) Saryu

(C) Yamuna

(D) Ganga

In which of the following cities of Uttar
Pradesh is the Government College of Arts
and Crafis located?

(A) Lucknow

(B) Kanpur

(C) Varanasi

(D) Gorakhpur

LM-B 19
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Q46

Q48

IR wan & Frefafia 4 @ e mee
W ¥ @ dra P g, s
¥ o b (s Fra dad) Rew &7
(A) TraYe

(B) e

(C) WA (FememErs)

(D) TS

TR W A fem weh v uftig s
il @ 8 7w Frafafa 4 A fra =)
@ e v fem 87

(A) TR

(B) sy

(€) @

(D) T

TR wen & Frafoafas 4 @ f5a mee i
T Ten vd e weiftgme (et
wid 3w sdw v Huey) Rea &2
(A) @S
(B) W
(C) o
(D) "vEyR
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Q49

Q50

Q51

Lucknow in Uttar Pradesh is famous for
which of the following handloom production
centres?

(A) Khariprinting

(B) Saris

(C) Chikanwork

(D) Brocade fabric

Firozabad, a city in Uttar Pradesh, is famous
for which of the following industries?

(A) Saris

(B) Cement

(C) Glass

(D) Locks

Whoamong the following did NOT provide
assistance to the British in suppressing the
revoltof 18577

(A) Scindiaof Gwalior

(B) Begum Hazrat Mahal of Awadh

ZIZE8Evs

(C) Nizam of Hyderabad

(D) Sikander Begum of Bhopal
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Q49

Q50

Q51

IR WY @ A wew Pttt |
A fra g (Esan) S Bl @
fore aftig @7

(&) @@ fafew

(B) WSl

(C) Rra= T

(D) 9N & TS

ST w2 & e fmare, Frefefea
# 9 fra gum @ fag uftg &

(A) W&l

(B) e

(C) @ia

(D) T

foraferfiae 3 & fvest 1857 @ faee &
4 & o el ) wEao weE @
1?7

(A) Tforae & fafan

(B) @ @) 47 FORa WEd

(C) v & fam

(D) ¥rare @ fasey dm
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Q52

Q53

| 054

Q55

The decision toeffect the Partition of Bengal
was announced by the Government of British
Indiaon

(A) 7August 1905

(B) 19July 1905

(C) 16 October 1905

(D) 1 September 1905

Who was the leader of the Ghadar
Movement?

(A) HarDayal

(B) BhagatSingh

(C) Madam Cama

(D) Shyamji Krishna Verma

Who started the Mahad Satyagraha in
Maharashtra in 19277

(A) Mahatma Gandhi

(B) Sardar Vallabhbhai Patel

(C) Dr.BR Ambedkar

(D) Jyotiba Phule

Which of the following Acts was based on
the Montagu-Chelmsford Report?

(A) Government of India Act, 1892

(B) Govermnment of India Act, 1909

(C) Government of India Act, 1919

(D) Government of India Act, 1935

SABRN 2

Q52

Q53

Q54

Q55

fafeer swiva wewR A dme @ fBaoE @
A & & Fvig & g wa A 62
(A) 7 3 1905

(B) 19 G 1905

(C) 16 JHA 1905
(D) | Revam 1905

MGY HTETAA & el B 87
(A) BY qUTd

(B) wra fE

(C) fran &

(D) TarTl T aHl

1927 ¥, WERTE # #Ewe s e
a7

(A) W I

(B) WVER qEnHIg Yo

(C) & . IR IEsIN

(D) =ifar g

fFrafafae 4 9 @t W sl
Aigrg—aqrmrd e ov amnfa ar?
(A) W AeBR e, 1892

(B) ¥WIRQ §YBR HfEiaH, 1909

(C) ¥ra wWaR HfRafEm, 1919

(D) e wear AR, 1938
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Q56

Q57

Q58

Q59

LM-B

When did the Muslim League join the interim
government under the leadership of
Jawaharlal Nehru?

{A) 2 September 1946

(B) 14 September 1946

(C) 24 October 1946

(D) 14 November 1946

Who was the chairman of Boundary
Commission for India and Pakistan which
was announced by Lord Mountbatten in
19477

(A) Lord Curzon

{(B) Lord Wavell

(C) Clement Attlee

(D) Cyril Radeliffe

The latitudinal extentof Indiaisfrom
northto__ north.

(A) 8°2";37°#4

(B) 8°4";37°6"

(C) 87379y

(D) 8°3°;37°5’

Which one of the following rivers does NOT
fall in the Gulf of Khambhat?

(A) Mahi

(B) Sabarmati

(C) Koyna

(D) Tapi

™

Q56

Qs7

Q58

g Q59

2

TAETAId 56 B Age A qftem o,
saRke wer # da wftifem g 0
(A) 2 Faeae 1946

(B) 14 foav 1946

(C) 24 IR@ET 1946

(D) 14 Fda% 1946

1947 # ©id Adedes gw oiftg W
IR wfswm & fay @ amm @
ey DA 47

(A) @ifd @l

(B) wid ade

(C) Teirie e

(D) fafRe Yeftew

urd BT ag e . smwA
_ amRas R

(A) 8°2°;37°4°

(B) 8°4";37°¢"

) 87,3779

(D) 8°3";37°%

fr=feafan 4 & @ @ & g A
el # o faad &7

(A) wTéh

(B) HEwHRI

(C) =T

(D) @it
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Q60

Q61

Q62

063

Which is the highest point of the Meghalaya
Plateau?

(A) Khasi-Jaintia Hills

(B) GaroHills

(C) Mikir Hills

(I Shillong Peak

As per census report of 2011, which of the
following states does NOT have tribal
population?

(A) Haryana

(B) Goa

(C) Gujarat

(D) Bihar

The Bhutia tribe, widely known for their
traditional grandeur, art and cuisine are found
in state.

(A) Sikkim

(B) Nagaland

(C) Arunachal Pradesh

(D) Tripura

Which one of the following states has the
highest population density according to the
2011 Census report?

(A) West Bengal

(B) Kerala

(C) Uttar Pradesh

(D) Bihar

LM-B
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Q60 WUIEu Yo @ HaA Sl W) A @

Q62

55133212

Q63

27
(A) @i—srafoar geifsa
(B) 9 ugEfEai

(C) fafase gerfeat

(D) Rrermr =1

2011 @ s Ratd @ arEn,
Frafafaa 4 @ e oo § seomda
sFEE @l 87

(A) ERamn %

(B) mar #

(C) Torma #

(D) faew #

fear wonfa, S aroel aRufe s,
&A1 v g @ e s wu A
S o @, e e A ard ond 87
(A) Fafdam #

B) Airmeis #

(C) womad wew 4

(D) Prgw #

2011 @ S RiE @y,
fresfafaa 4 & fra won A e
ued waifs &7

(A) uf¥em dmma

B) @

(C) SwR uew

(D) faer
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Q64

Q65

LM-B

Which region in Andhra Pradesh is actively
engaged in the production of petroleum?
(A) Mahanadi Basin

(B) Krishna Godavari Basin

(C) Narmada Basin

(D) Cauvery Basin

Mount Elbrus, one of the highest peaks in
Europe, issituatedin

(A) Germany

(B) Switzerland

(C) Russia

(D) Ukraine

Which article of the Constitution of India
deals with *equality before law"?

(A) 14

(B) 13

(€ 17

(D) 26
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Q64

s waw @ Prafafaa 4 @ @9 o &3
wfisa w1 A 9faam & g 9 9@
LT

(A) ¥ETq) afE=

(B) Fwr Maradt afe

(C) wier AR

(D) w=ad aft=

g3 & Seaon gda e i @ us Aee
Toad weEl e 87

(A)

(B) Ragurets

(C) &9

(D) 7

AR Higam & Frefafua 4 @ @9
o e fafs wwr aFf @EE @
A TEET @ A 87

(A) 14

(B) 13

(C) 17

(D) 26
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Q67

Q68

Q69

Provisions regarding the promotion of
international peace and security are outlined
asapartof ___ ofthe Constitution of
india.

(A) Fundamental Rights

(B) Directive Principles of State Policy
(C) Fundamental Duties

(D) The States

Who is the appointing authority of the
Governor of a State in India?

(A) Prime Ministerof India

(B) Chief Minister of the concerned state
(C) The President of India

(D) The Central Cabinet headed by the

Prime Minister of India

Who was appointed as the National Security
Advisorof Indiaon 31 May 2019?

(A) MK Narayanan

(B) BrajeshMishra

(©) AjitDoval

(D) IN Dixit

sTTING

Q67 afcusia wifty afw e &1 qgEr <

25

W walba wawE, AR w@fes @
Freforiaa # & e v 9 & w9 §
Sfeafla #

(A) #ifes st

(B) v & Ay Fidwe figi

(C) it @il

(D) wreat

e 4 e e @ aogare @1 Pl

it Frafafias § & $9 s 82

(A) YINE & TEIEA

(B) wHafa woa @ FeE

(C) Rd & Wiy

(D) WRT & WEFTHA & aEgerar d S
RIEUET

3198 2019 B ARG B U [ReN
Helledn & w9 4 fodt Figaa far mn
or?

(A) THE. AR

(B) ware fas

(C) 3t SpTe

(D) WA, iférer
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Q70 Which of the following statements is

INCORRECT?

(A) The procedure for impeachment of the
President has been described in Article
61 of the Constitution of India.

(B) Impeachmentmotion can be presented
in any house of the Parliament.

(C) Impeachment resolution can be passed
by a majority of not less than two-thirds
of the total membership of the House.

(D) The President could be impeached for
violation of national security.

Q71 Who was appointed as the Finance Minister

of India on 31 May 20197

{A) ArunJaitley

(B) Piyush Goyal

(C) Nirmala Sitharaman

(D) Rajnath Singh

(072 According to a G-20 surveillance note,
prepared by IMF in June 2019, India’s
economy is expectedtogrow _ in

2019.

(A) 6.3%

B) 7.3%

(C) 83%

D) 9.3%

LM-B
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Q70 f=forfaa § @ &9 W w2F Tda 77

Q71

Q72

(A) T & WU D AT 61
wrgfer & sl @1 ufd @
aufe famar Tar &

(B) Wi wweng wwe & fae o
a1 yee far o wadn 2 |
(C) WETHITT U, Wew @l del Hawdl
% g1-frerd 9 s agaa @ WG

farar o wemar )

(D) wrezafey ue sy Y & Seud &
fore mmfiaiir gemn o wadar )

31 #2019 @1 Wed @ Bt 430 & wy 9
Frefafaa 3 & s Pgea s
or7?

(A) arevl wee)

(B) Ry e

(C) st arsor

(D) v RiE

G 2019 7 AEPAE. (IMF) §RT TR
W20 FRE femdl & SR, 2019 9
HIRA @) Aefegwel fel fbher wicer 9
o 9EfE 27

(A) 63%

(B) 7.3%

(C) 83%

D) 9.3%
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Q73 Mahila Shakti Kendra (MSK) under the

Q74

Q75

LM-B

Umbrella Scheme Pradhan Mantri Mahila
Shashaktikaran Yojana (PMMSY) has been
approved for implementation during
(A) 2016-17
(B) 2018-19
(C) 2017-18
(D) 2015-16

Mahatma Gandhi was against_ of
India.

(A) slow industrialisation

(B) rapid industrialisation

(C) British mode of industrialisation

(D) American mode of industrialisation

Who among the following was swom in as
Chief Minister of Arunachal Pradesh on 30*
May 2019?

(A) Jarbom Gamlin

(B) Kalikho Pul

(C) Pema Khandu

(D) Nabam Tuki

27
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Q73 warHHAl wfgwr wufdmeww gtaw

Q74

Q75

(PMMSY) & asiarfa #fden wfam @i
(MSK) ®1 Frafafta 8 9 e safy &
A el @ R aEfaa fn
e

(A) 2016-17

(B) 2018-19

(C) 2017-18

(D) 2015-16

WETON TR A B @ faweg o)
(A) W& sitenfirestgor

(B) e afrenfiresrnsor

(C) shehfrerasor @) fftw waf
(D) shaifrdiavor & smRah ugfa

Frafafaa 4 & e 30 %€ 2019 &1
VA WS B A B w9 Ay
uE H7

(A) siram Anfes

(B) wferar g@

(C) 1 @ig

(D) Tam A

SERIES-B-G



o . 00 a

SECTION-3| GENERALSCIENCE /ARITHMETIC | 50 QUESTIONS

Q76 Ifx* = 3x+ | =0, then the value of
F+x+(1/x) +(1/x*) will be:
(A) 7
(B) 8
(C) 9
(D) 10

Q77

arithmetic progression. AM is perpendicular

to BC. Find the value of BM/AB.
(A) 1/4
(B) 1/3
(©) 12
(D) 3/4

Q78

The mean of the combined set is:
(A) 7.5

(B) &

(C) 85

(D) 9

Q79

A:B:Cisequalto:
(A) 14:8:7
B) 12:8:7
(C) 11:6:5
(D) 13:8:5

Q80

contains 5% water. How much pure milk
should be mixed with it to get a mixture

containing 2% water?
(A) 20.5 litres

B) 21 litres

(C) 21.5litres

(D) 22.5 litres
LM-B

Angles A, B and C of a triangle are in

10 is the mean of a set of 6 observations
and 5 is the mcan of a set of 4 observations.

If20% of A=0.35 ufB=% of C, then

15 litres of a mixture of milk and water

K402
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Q76 X x*—3x+1=08 o P+x+(1h) +

Q77

Q78

Q79

Q80

(1/x%) &1 HIF T BPTY
(A) 7
B) 8
<) 9
(D) 10

fe Brga @ & @ A, BalR C
A 4o # € 3l AM, BC 7% &gan
21 BM/AB @1 519 @11 81T

(A) 1/4

(B) 1/3

(C) 12

(D) 3/4

6 el @ wHead @1 ARG 10 2 3w 4
veoll & wpEEE @1 Wy S B e
=T H A T 8P

(A) 7.5

®) 8

(C) 8.5

(D) 9

2
ufe A®120% =B &0 035=Ca g

dl A:B: C e wwge grm?
(A) 14:8:7
(B) 12:8:7
(C) 11:6:5
(D) 13:8:5

15 efle” qu iR ot & s 3 5% o
81 2% Wrel arar s wia & & fag
gl e gg gy fireman st nfe?
(A) 20.5 eiex
(B) 21 &frex
(C) 21.57¢ieX
(D) 22.5wileX
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Q83

A and B together can complete a task in 9
days, whereas B and C together can
complete it in |5 days. All three can
complete the task in 6 days. In how many
days will A and C together complete the
task'’

|
(A) ﬁ;

®) 6
6
(©) 65

3
©) 63

Two pipes, A and B, can fill a cistern in 36
min and 45 min respectively. Both the pipes
are opened together in the cistern, A fier how
much time should A be closed so that the
tank is full in 25 min?

(A) 13 min

(B) 14min

(C) 15min

(D) 16min

Ifa + b* = o, then o + b* is equal to :
(A) 0

®) 1

(©) &+ b

D) @b+ ab’

ZLLEYS

Q81

Q82

Q83

A 3R B Praaw w& o 9 it A i o
waxl & wafd B alv C fmee 39 15
Rt 4 of av v & A9 @ WM
ierse &4 6 Rt 7 of & |&a &) A
MR Cuw v Piese a8 srl fa
fast o gl @

i
(A) ﬁ;

B) 6

Cﬁi
[]?

3
{D}ﬁ;
a1 UEY AR BUd @z (Rwed) @
w36 e iR 45 fire 9 s e
81 &1 = Wl @ @ (Fwed) d wa
ey WA AT R AP e v A
ae s wrn wifey 6 @ (Rewest) 25
firre 9w ame?

(A) 13 FFe
(B) 14 e
(C) 15 e
(D) 16FFe

afk b =g B W o+ b fEES
W grm?

(A) O

B) 1

(C) #+H

(D) &b+ ab?
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Q84

Q85

086

Q87

LM-B

Which of the following organisms is a
colonial form?

(A) Amoeba

(B) Chlamydomonas

(C) Polysiphonia

(D) Volvox

Identify the INCORRECT statement about

class insecta from the options given below.

(A) Ithasthree pairs of legs.

(B) Tthas joined legs.

(C) It has one pair of legs in each body
segment.

(D) Ithas legs present in thoracic segments.

Ultra filtration and reabsorption process
takes place during the:

(A) circulation of blood in vessels

(B) transport of gases through blood

(C) excretion and urine formation

(D) exchange of gases during respiration

How much percentage of fresh water is
available on earth?

(A) 30%

(B) 03%

(C) 03%

(D) 0.17%

ZiZERPTS

30

QB4

Q85

Q86

Q87

Fraforfam 39 @9 o o vas sefHae
& W@Hy # e #7
(A) arftar

Hr faw o et 4 | o g (@)

@ ed | ed U @)y B

(A) z5d @ ard e g o #)

(B) &3 A3 angw 3 o3 €9 #)

(C) 5% uedd wii-ws A @ sl
e a8

(D) 371® @it @al 3 i R
Ed &)

sifty freres afte greomeioo wian e

R Bl 87

(A) arfewmil # v Har @ e

(B) Tl @ wrm 9 Ml @ oftase &
M

(C) werem it w= P & dee

(D) e & <A N @ yEFE-vEE
& g

gedl g1 fae witver oo ore SueTE
{4

(A) 30%

(B) 03%

(C) 0.3%

D) 0.17%
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Q88 Which ofthe following does NOT contribute

Q89

Q91

Q92

to the pollution in water body?
(A) Heavy metal

(B) Ozone

(C) Microplastics

(D) Pesticide

Which of the following is NOT a greenhouse
gas?

(A) Water vapour

(B) Nitrous oxide

(C) Ozone

(D) Carbon monoxide

Methy! orange indicator changes its colour
at which pH value range?

(A) 3.1-44

(B) 1.0-3.1

(C) 44-58

(D) 58-7.0

Pharma vision 2020 is a programme to

develop India as leader in:

(A) Drug manufacturing

(B) Pharmaceutical research

(C) Providing human resource in
pharmaceuticals

(D) Drugdiscovery

In which year Capt. Rakesh Sharma travelled
to space in a Soviet space programme?
(A) 1981

(B) 1982

(C) 1983

(D) 1984

LM-B

ZLEE LGS

Q88

Q89

Q91

Q92

Frafafaa 4 4 =1 ooim Pem 3
BAaIE wgueT § APTEr ger A1 avan?
(A) Wil a1y

(B) 3t

(C) wrgmreniRedn

(D) @emas

frerfaftas § @ @ v Bemew o
i &

(A) ot an

(B) ggw AFaES

(C) v

(D) T AFRiTTEES

fenga oifta wdas @ pH =
UY AT I qEern &7

(A) 3.1-44

(B) 1.0-3.1

(C) 4.4-58

(D) 5.8-7.0

w2020 W @ el s
w9 Rafaa &3 & e arfen 87
(A) affy Fymioy

(B) i s

(C) simftal 3§ AT FOEE 9TF B
(D) aufy & @

st e vt A e ad o oo @faaa
aerfer wrdemn A ey 95 arsn @ 62
(A) 1981
@) 1982
(C) 1983
(D) 1984

SERIES-B-G



Q93

Q95

LM-B

The Goiter disease is caused due to the
hypofunction of:

(A) thyroid

(B) parathyroid

(C) thymus

(D) pituitary

The working principle of a transformer is:
(A) Self-induction

(B) Mutual induction

(C) Electromagnetic induction

(D) Lorentz Law

The wave nature of electrons was first
(A) Photoelectric effect

(B) Double slit experiment

(C) Davisson and Germer experiment
(D) Compton effect

Which is the causal organism of small pox?
(A) Rubella virus

(B) Variola virus

(C) Ebola virus

(D) Cytomegalo virus

The peptide bond is formed between:
(A) Amino group and hydroxyl group
(B) Two hydroxyl groups

(C) Amino group and carboxyl group
(D) Amino group and carbonyl group

Sickle cell anemia is caused due to the:
(A) deficiency of folic acid

(B) Abnormal levels of haemoglobin
(C) deficiency of iron

(D) production of less number of RBCs

ZiFELaS
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Q93

Q95

Q97

Q98

Hr (igey) I wd ssufsam @
TR g 87

(A) Iag IR (araigs)

® Sua uf Gvemigs) @

(C) e Ty (g @)

(D) drgu 1 (Reged) @

uRads (gowri) e fgla w el
weer 87

(A) -

B) urwafRa W

(C) Tagga—gmsta wv
(D) =iiva &1 Fam

gaagl o wpf) @) wafs s
A gscht aw fad g fag s
ar?

(A) W& fRgga wim g

®) fe—vafer (saa Rae) wam g
(C) aRw= aflv Wiy wam g

(D) FFeT g9 gl

g% (Wite diaw) @ drens dia B
&7

(A) waer R

(B) afaiar fmyg

(C) Faren fau

(D) wrgermE faw

Yerge au & Fo e @a o @7
(A) 3 e o sgifdee wiE
(B) @1 BRI WE

(C) 3 ¥ oft wrlfrae e
(D) a3 wipE ol @ifie avE

g e worerm (a9

witfan) e s g &7

(A) wifrs o @ & @ s

(B) #hiraifas @ s Wl & SR

(C) ohe & &0 & srw

(D) & sl @1 swft @Eredh)
# T & R
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Q99  The protein component of food diet is mainly

responsible for:

(A) energy only

(B) energy and growth
(C) growthand repair
(D) growthonly

Q100 The Indian Institute of Chemical Technology

15 situated in:

(A) Ahmedabad

(B) Prayagraj(Allahabad)
(C) Hyderabad

(D) Kolkata

Q101 Which of the following microorganisms

causes dysentery?
(A) Salmonella
(B) Shigella

(C) Leishmania
(D) Plasmodium

Q102 The study of all the factors that are

responsible for the appearance of a particular
disease is called:

(A) Actiology

(B) Epidemic

(C) Endemic

(D) Epidemiology

Q99 ®AR WU BN 1 W ¥ J&I W

7 fdws for Soverdl &2
(A) ®ad Haf & fayg
®) wut s g @& R
(C) afE 3w wem & fay
(D) ®aa giE & farg

Q100 sty wrmafis el e (@

TRIegE AT Pfwa Eh) wel
frer &2

(A) FEwETETE

(B) WIS (FTEER)

(C) Bawmmg

(D) BrewwET

Q101 waifeesr (fadfsd) Frafaftes 8 & @ 2

Ol B HRY BT &7
(A) I

B) Rrten

(C) ehredfan

(D) <rifEam

Q102 37 i TRS! BT IEAT T FEAT &

Wil v fad A @ wewen & farg Sewer
B 87

(A) vfRwefsh

B) vfidfs

(©) vefs

(D) vRRfmEh
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Q103 Why is immunisation against common cold

NOT very effective?

(A) No vaccine against common cold has
been developed.

(B) Common cold occurs due to climatic
conditions.

(C) A large number of strains of rthinovirus
is present thereby making immunisation
ineffective.

(D) The causal organism for common cold
has not been identified till now.

Q104 The Nobel Prize for 2018 in the area of

Physics has been awarded for the work in
the area of:

(A) Laser physics

(B) Black hole

(C) Magnetic resonance

(D) Gravitational wave

Q105 Which of'the following food items would have

highest per-gram calorific value?
(A) Ghee
(B) Maize
(C) Rice
(D) Meat

Q106 Ultrasound waves are NOT used for which

of the following purposes?

(A) Tolocate its prey by a bat

(B) Toknow the depth of sea bed by a ship

(C) Todiagnose defect in internal organs
ofhuman body

(D) Todetect acroplane in any air space

55385534
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Q103 ¥mrg wdi-gom @ fIvg dem

it e =t T e 87

(A) FP wdl-gam & faeg a1 0
et et T8 s mar 3

(B) WM Wel-gM woarg uRfeift
& N BT B

(C) & 4Wrd ¥ wgAaEwE & fafds
ya faeE vad & o S
I JWATE g9 ST £

(D) |G Hel-g@M & foly ITENS
Sifa & ygwH 39 O T8 8% &

Q104 e & &= # 2018 T AA BN

fraferfaa # 9 5w &3 4 vy v o
o forg far mar &2

(A) ofor “ifaat & forg

(B) @@ 81 B fag

(C) gadia e & forg

(D) TEwETEYY 9T @ forg

Q105 Fr=fefias % 9 G wme gen #§ g=am

ufer am Herd 7 g 87
(A) © %
(B) T
(C) 9rga #
(D) 7 #

Q106 Frferfae % @ fore 9gwa & foy wea

T (AregTaTdS doH) T wanT [8l fhar

W 87

(A) THTES BRI 309 RPR &1 gan
GG

(B) Wiei—d1 T WYE o T8 &l TR
EingEasll

(C) wFa NN & ayfaftes it % <l &
FrEm s

(D) 3esTil &1 ¥ arggr &1 GO T
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Q107 Identify the INCORRECT statement about

water cycle from the options given below,

(A) Evaporation of water facilitates cloud
formation.

(B) Water vapour comes in atmosphere
through transpiration only.

(C) Melting of snow is a part of water cycle.

:l (D) Sunlight is also responsible for
evaporation of water.

Q108 Count of coliform bacteria provides an idea
of
(A) E coli infection in blood
(B) presence of £, coli in intestine
(C) microbial contamination in river water
(D) microbial contamination in packaged
food

Q109 Solve the following.

42-2(25+16+4x3 — 4 x 4)+5=7
(A) -5
(B) 4
(€) -4
D) 5

QU110 If 1.5a = 0.2b , then fimd the value of
(Jani.&}*i
(3a+5b) 27°
(A) 1
B -1
(C) 2
D) -2

e I e o L e R i T e e ETT e .

LM-B
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55545534

QT MM Rr R ddaa ow 3

4" A Tea T B gEEE o

(A) oIt & arefievor & arear o Pmio
g &4

(B) Wil A Pact arToHe @ W
¥ B agEse A ot 2

(C) a% &1 Meer S 9@ &7 va 9
8

(D) wie & ansfiawor & faw wd &
war W Sovedl gr 8

Q108 Hrefiwhd Sharpeif & e Frafafem

¥ &9 TR # 0 3 vaE s 87
(A) ¥ # § P =1 dwam

(B) = A & Fiorg @ aulufd

(C) 7 & wIet ¥ qearfidl sy

(D) feard Mo # geoldt Wy

Q109 Fr=feifaa =1 ga @¥)

Q110

42 ~2(25+16 + 4 x3 -4 x 4)+5=7
(A) -5
(B) 4
(C) -4
(D) §

ule | 5a=02b 8 @

(3a-5b) 4
(3a+5b) 27
(A) 1

B) -1

(€) 2

0) -2

[ W T B
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Q111 The product of the LCM and HCF of two QI 2 eFE el B JYTH wEads

positive numbers is 72 and the difference (LCM) 3l weem wmad® (HCF) &1
between these numbers is 6. The sum of the e 72 & 3w g wems i 6w
numbers is: v & | et & 3 a o E?
(A) 6 (A) 6
(B) 12 B) 12
(C) 18 (C) 18
(D) 24 (D) 24

Q112 Solvethe following. Q112 fFr=faftaa & ga &1
236-3.05+433=" 236-305+433="
(A) 364 (A) 364
(B) 334 (B) 334
(©) 344 © 344
D) 333 D) 333

QI3 IF8Y x 647 x 40°% x 257 = 40, QI3 TfX 82 647 x 40 x 25V =40°%, A a
then what will be the value of a? F1 HF T B
(A) 0.5 (A) 0.5
(B) 0.7 ®) 0.7
(C) 0.9 (C) 09
D 1 D) 1

Q114 By which of the following largest number s Q4 v Rufy ¥ wwgen 9w e & @
should 2270, 3739 and 6677 be divided 10 g fore weamit 2270, 3739 3R 6677 G|
obtain the same remainder in each case? & frafafaa 1 @ fra ad @ o) e
(A) 1459 fawnfore fasan s anfde?
(B) 1469 (A) 1459
(C) 1479 (B) 1469
(D) 1489 (C) 1479

(D) 1489
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Ql15

Q16

QI17

LM-B

X and Y are two compounds formed by the
combination of silver and copper in the ratio
of4:3and 4 : 7 respectively. Equal quantities
of these two compounds are melted and
mixed to form a new metal Z. Now metal Z
contains silver and copper in the ratio of:
(A) 41:33

(B) 41:36

(C) 33:41

(D) 36:41

If Raju eams 20% more than Vijay, by what
percentage is Vijay’s eamning less than that
of Raju?

(A) 25%

B) —%
{C] ——05

D) <%

A mobile was sold by two mobile sellers at
atotal gain of 45%. If the first seller sold it
at a gain of 25%, then how much gain
percentage did the second seller achieve?
(A) 20%

(B) 18%

(C) 16%

(D) 14%

Q115 X3k Yo dffres & ot aorer 4: 3 3l

37

4: 7% yure A aid) ofiw o & P g
T & | 79 <1 vt @ wEe A @
e vw ¢ fs-arg Z Ffa &
Sl 8 | 3, - 29 ard eiv o
&1 I a4 §m?

(A) 41:33

(B) 41:36

(C) 33:41

(D) 36:41

Q116 % v, A 9 20% e ama afdfa

el &, o Rom g afvla am w9
g aifdka ama & gaen # fsoe wfem
a9 87
(A) 25%

50
(B) T'fn

4(}‘
© 5%

LB
© T %

Q117 U& AiaEd, 81 Magd Rdasit arr 45%

& T{el @M 9Y q91 7147 | aft gEe R
A9 25% @ O UY dar B, O o
fagan =1 fsee wftvere oy wre fean?
(A) 20%
(B) 18%
(C) 16%
(D) 14%
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Q118 A father and son working together can finish

a piece of work in 24 days. If, for the last 6
days, the father alone works, then the work
is finished in 26 days. In how many days can
the son alone finish the work?

(A) T2

(B) 70

(C) 68

(D) 66

Q119 X, Y and Z completed a piece of work

costing T 4,480. X worked for 4 days, Y
worked for 6 days and Z worked for 8 days.
Iftheir daily wages are inthe ratio 5: 6 : 7,
how much amount will be received by X?
(A) T 800

(B) T 1,200

(C) 2,400

(D) T 3,000

Q120 A train leaves Hyderabad at 7 am and

QI21

reaches Vijayawada at 1 | am. Another train
leaves Vijayawada 9 am and reaches
Hyderabad 12.30 pm. At what time would
the two trains cross each other?

(A) 9:50am

(B) 9:56am

(C) 10:02am

(D) 10:08am

A tank 9 m long, 4 m wide and (1/3) mdeep
isdug ina field 24 m long and 14 m wide. If
carth dug out is evenly spread out over the
remaining field, the level of the field will rise
by

(A) 45¢em

(B) 5em

(C) 3.5cm

(D) 4em

LM-B

rEGSHGNG
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Q118 = fier afr g3 ey el & =1 24

feet A qu #= wea €1 afk, iftm 6
o= fen st @il wwen @ o @ 26
fa1 % s & S ® | g3 ada fvom
f& 1 % & w0 o W #7

(A) 12

(B) 70

(C) 68

(D) 66

QI19 X, Y3lR Z A T4,480 % Srra O 0%

F1d gof far | X 3 4 fem o v, v
61 v 29 s Rs =d f5am) ol
FT@! 2FF AT 5:6: 7D U # B,
a1 X &1 feeett gs—wfdr faefy?

A) T 800

(B) T 1,200

(C) T2.400

(D) T 3,000

Q120 TS Y18 {aE 7 a0 BEare O ywn

it & 3K gaw 11 a9 Ao geh
21 U@ 3 Y Roraarer 9 gag 9
ool weerE el 8 oY Sue 1230 79
gavare ggadl 8| 1 Yt ue
T & e wg ar S

(A) H9E 9:50 9

(B) 948 9:56 ¢

(C) ga% 10:02 R

(D) ga® 10:08 7

QRIMdmAA N dmdB F @T F9m

a1, 4 m et 3R (173) m T8 UE &
e T 2 | aft @l g Pl @ e
9 9 Y9 @ A G o, o |
Harg o 7g wed?

(A) 45¢em

{(B) 5cm

(C) 3.5¢cm

(D) 4cm
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Q122 Atapcan fillatank in 8 h, After half of the Q122 UF i 862 ¥ U €& & WY Wepal & |

tank is filled, four more similar taps are N B W TH B 41, I TER B
opened. What is the total time taken to fill R 3R W 9 W oy &) 29 @
the tank completely? uofer R # @ e wwa @
(A) 4h46min (A) 4652 46 fiFre

(B) 4h48min (B) 4 €2 48 fime

(C) 4h38min (C) 4 62 38 firre

(D) 4h30min (D) 4 52 30 fiFe

Q123 01-01-2012 was a Sunday, What day of Q123 fa=id 01-01-2012 @Y aw o) R

the week was on 01-01-20137 01-01-2013 T Mg & @ wr fas g
(A) Tuesday (A) HTFaR
(B) Wednesday (B) qEaR
(C) Thursday (C) AR
(D) Friday (D) TFar
Q124 Read the following statements and select the Q124 F=fafas et & v afiv wd Ao
correct option. g |
I.  In60min, the minute hand gains l. 60 fre & fme & g w2 & o
55 min on the hour hand. ¥ 55 fe amt Bl &)
2. Aclock isstarted at noon. The angle 2. U®P uEl SYEY & W AN A
traced by the hour hand in ot 8 S 10 fvre 3 v o g
5h 10 min = 150°. BT 11 a1 Br 50° # |
I (A) Onlystatement | is true (A) @ac ToT | G B
(B) Only statement 2 is true (B) $ad a0 29 £
(C) Both the statements are false. (C) =FI oo 3w 8§
| (D) Both the statements are true. g (D) = Fu wea §
F Q125 Inatriangle ABC, if ZA=90°then:  ~ QI25 ot ABC # aft ZA=90° & o el
| (A) SinA=SinB e g |
l (B) SinA=—SinB (A) SinA=SinB
i (C) SinA=CosB (B) SinA=—SinB
(D) SinA=—CosB (C) SinA=CosB

! (D) SinA=—CosB
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Q126

Q127

Ql28

LM-B

SECTION-4| GENERAL HINDI | 25 QUESTIONS

e feroht an ol 1 - fFe geR

@1 aray 87

(A) gl

(B) wHawri®
(C) yonw
(D) HaEaTa®

Frefeftaa § 4 @9 wr oea gg 27

(A) ¥g® @ wga & SvAnh o 2

B) ¥ R 7 P U g G
g1

() = W & wiafal & frwd
(o f

(D) iy & 1w 7™ §)

el &wEdan
A&~ T $ dm A Rew e
# @ wn faem feresr amg?

(A) IR

B) &R

(C) o
(D) dww foaes

Q129

Q130

Q131

ot &1 BR EFr-Era ®1 aef T |
(A) arofia BT BT

(B) WEd Wiewi—vred! BT

(C) rg T TaHY

(D) &= # 7 ®en

UE HE 3R R B A’ — A B
el e |

(A) ol # A WA HY B |
(B) Haa sy famn

(C) v WiRa W |

(D) 39 e | GBI A

Sl

I fEd Tgg & o R
HET Wil &7
(A) MR gudl

(B) Wiy
(C) 77T ®fa

(D) SIg9ia: 9a%
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Q132

0133

LM-B

WA & TSR B 87
(A) Hfreiieo 7o

(B) = B

(C) wEm fig =
(D) v v
R W AR YS! B oGS D
§?
(A) SUT= ATH
(B) SrTEIEE AR
g el

1 e

(C)

(D)

Frfafaa s @1 segs fifow
A A Ry v wwE (ue w134 -

136) & T & |

R 2Y frarr @ @& oflan &1 0@
ey AN A B, I 9 E@ BN
aifte 8, ol s 9§ 99 T= & e
T A g fadwiter # | 39 ye
ae o & ame @ SgEifen we @)
S wven R afv wiEl a9 S9 g
awear frerdt 8, 98 59 o5 0% IR

B @ ufrar ) o e safw

4l

Q134

a8 o= Far 87 39 ad F gunf &
Wity a8 & Rt o a1 daa wieEn
81 &, afes s &7 aiw B o B g
guefer § ann w2 27 qmEn of & w
g1 W g—arEm | il ser A
¥, wel o b 2an) wawof = 8, as
e f & o 99 RAifdw o 8, iR
ot w9 S8 99 IwE ¥ g
femen & < aund g9 8 89 2an)
T YOR (F TS B i i
FTTHA BN @ B, 9o o ufdowg
IAET W g 2, i W @
wrol H o gy el e # e
oita @1 g9 weN rafd & gear @
mf au gurl | gEer 8 o R
9% Wivl 81 8| arag # a8 oftas &
U A A A 2 s ol ittt
FUT G SN BT €, 3R g
& 781, afcs w1 w1l &), wifs i
Wil @ i afR Frafy e & 8

audtae TEar o Sy e 9fi
(A) Sia= &1 U AR

(B) w1 & Frafa

(C) weig &9 3R oies

(D) ¥s & Hidw
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Q135

LM-B

SR TEUIY BT wHEGor HfY |

(A) =¥ o= &1 ¢F A1 w/E el @
ar i Inife! & guer e
e g 8, s gwifAe &
o o el @ wifs o
et & e ol frafa os @
L4

Ay Tvi fvamm & 6 ofres &
T qvg AR W 8 g @
@ BART g1 B, afiv e o 9w
AL B YTE B AT BHNI
frdmfier 8

T ot 6 amma @) sguifea
T B P wvor & i ol
a® a0 gudl wweran e & a8
TH @ OF IR B a1 ufar
t

WRdY T ofes & oy 9 @
T I0 A A wfdsar F waren
t @® T AN 99 Pad
e o R, afte Swer ow B
W 8, N ouafer § Wi amr #

®)

(©)

)

swr, o oY & @ W |
¢ W voR INfE @ W
sqmfea o gem & afe @
gy ¥ vHEER B WY g
A ST AreRer & 9
i et B e B 8
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Q136 TR TETIY B AWW W gy F

Q137

S5T(O084

Q138

Ul & wifty & wg@ ann w87
(A) s

(B) wffa

(©) Frafa

(D) Irgeme

W oiF wdam @ fm yen &1
IETENT &7

(A) FramEms

(B) sfvogar®

(€) Fromras

(D) wga WA

e, AW e W
R w7 @ g e Ry Rt
# 9 I9gE = g7

(A) e

(B) wrmm

(©) ¥farEA

(D) FFFF
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Q139

Q140

Q141

LM-B

uH @ way i Frfofe 4 & R
‘HfareT sea 87

(A) For-g=

(B) Forim

(€) i g=

(D) et FiErsi

Frefefaa & & fsaer war s
e el |yt e fam,
e anfe @ [uar B weT § g 87
(A) T3

(B) wRy3

(C) sfrgeT

(D) TRAE RN

TR fFaw a9 s 87
(A) fawt @

(B) dHufig @

(C) "= avi &1

D) w1
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Q142

Q143

4Q144

Q145

fom @t & s=amot # war 9w @ A
Feadh 8 o _aﬁsﬁ L4

(A) Fegafts =

(B) s v

(C) s ww

(D) dfén ww

RN @ "W w grm?
(A) g9 + T
(B) TY + ™
€ T + ™

D) |+ M

wawg WA a1 Semvr 82
(A) Tegew

(B) @HuRY

(C) Taga

@) gl

AT WAl T O WA — Ay ¥ it
e B A1 wdae &7

(A) qowareas
B) Fowmres
(C) Frrauaras
(D) sfFreaTaEs
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Q146

Q147

Q148

LM-B

S AT geX 81 — T A B
o1 e fador 87

(A) 3

(B) 4
(C) Hew
D) &
‘TH WETETE W Hes 1.4
frae i WA & fog sfm w97
(A) =i

(B) @

(C) w4

(D) ™

oa o & witw &
saeg W - Ram wm = & fav

il

TugEE e g | :
(A) w=fa

®) wrfay

(C) %

(D) fawm
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Q149 TE aekh aen v g |

Q150

(A) g
(B) =
(C) wdoran

(D) wpdoran

™ ¥ ua ol - e g @
FarEvr 87
(A) wfare
(B) FHara
(C) ¥raarey

(D) @g—aiarey
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Read the following Instructions carefully :

frafafaa fidal &) as 9 W -

1. Out of the four altematives for cach question, only
ane circle for the correct answer is 1o be darkened

completely with Black Ball Paint Pen on the OMR

1. S v @ v Ry ) an Rest 4 |
HEl 9T @ fov 3t UH, AN, TR T W
Had UH M B & gf oww W O dige

Answer Sheet. The answer once marked is not linble
o be changed

The candidates should ensure that the Answer Sheet
is not folded. Do not'make any stray marks on the
Answer Sheet. Do nol write vour Roll Mo, anywhere
else except in the specified space in the Answer Sheet,
Handle the Test Booklet and Answer Sheet with care,
a5 under no circumstances (excepl for discrepancy in
Test Booklet), another set will be provided

The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Altendance
Sheet.

Each candidate must show on demand his / her Admit

Card to the Invigilator

Mo candidate, without special permission of the Center

Superiniendent or Invigilator, should leave his / her

seat.

The candidates should not leave the Examination Hall

without handing over their Answer Sheel o the

Invigilator on duty. Cases where a candidate has not

signed on the Attendance Sheet will be deemed not to

have handed over the Answer Sheet and dealt with as
an unfair means case.

Use of Pencil/Electronic/Manual Calculator is

prohibited.

The candidates are governed by all Rules and

Regulations of the Commission with regard 1o their

conduct in the Examination Hall. All cases of unfair

means will be deall with as per Rules and

Regulations of the Commission,

10. After Examination is over, candidate has to return his
Answer Sheet to invigilator. Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate’s copy of
answer sheet.

11. Candidates are not allowed to take Test Booklet with

them. They have to submit the Test Booklet to the

Invigilator after the exam.

U9 W | U AN o sife ey oM &
q1g 9H g5on T80 o W &)

witerredt wifaa & @ gov vEE & A
A e vd 99 ue g ey e | e
gt arger armEE gv T A4 Puifa
wH & R amga 7 o)

R @ Ud 9T UEd & AFES
v B gaie N oRfafy 9 (@as
e ik | 9 3 818 HY) THY gden
gRam U9 9T UAd SudEl A8l
AT |

gden gitas § 9 T ol yiem @9
1 el w9 ofd | ufefd uas A
ford |

g8 WM O¥ Tedd goemed], s e @
AT WA S A |

pefieres AT ey A ) R arafy @
e o ofemell s o W e
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